Bello, Forta Job Title Bello, Forta Job Title Carcamo, S Job Title Carrasco Carra	Daniel C- Busser		Hours Check Total Claimed Tips Grand Total Hours \$9.50 \$10.00 Check Total Claimed Tips Grand Total Pay Rate \$.00 \$0.00 Check Total Claimed Tips Grand Total Hours Check Total Claimed Tips Grand Total Hours Check Total Claimed Tips Grand Total Hours Check Total Claimed Tips Grand Total	15.96 55.96	\$0.00 \$0.00 \$0.00 \$55.12 \$329.82 \$8.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
Anzualda, Job Title Bello, Forta Job Title Carcamo, S Job Title Carrasco	anato OC - Kitchen OC - Kitchen anato C - Server astellon, G	Pay Rate	Check Total Claimed Tips Grand Total Hours \$9,50 \$10.00 Check Total Claimed Tips Grand Total Pay Rate \$.00 \$0.00 Check Total Claimed Tips Grand Total Hours Check Total Claimed Tips Grand Total Hours \$2.13	Total 28.92 5.51 34.43 Hours 40.00 15.96 55.96 Total 0.00	\$0.00 \$0.00 \$274.70 \$55.12 \$329.82 \$8.00 \$337.82 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
Bello, Forta Job Title Bello, Forta Job Title Carcamo, S Job Title Carrasco Carra	anato OC - Kitchen OC - Kitchen anato C - Server astellon, G	n - OT Pay Rate	Claimed Tips Grand Total Hours \$9.50 \$10.00 Check Total Claimed Tips Grand Total Pay Rate \$.00 \$0.00 Check Total Claimed Tips Grand Total Hours Check Total Claimed Tips Grand Total Hours Spand Total Hours Check Total Claimed Tips Grand Total	Total 28.92 5.51 34.43 Hours Total 40.00 15.96 55.96 Total 0.00	\$0.00 \$0.00 \$274.70 \$55.12 \$329.82 \$8.00 \$337.82 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
Bello, Forta Job Title Carcamo, S Job Title Carrasco Carrasco Carrasco Carcamo, S Job Title Carrasco Carrasc	anato OC - Kitchen OC - Kitchen anato C - Server astellon, G	n - OT Pay Rate	Frank Total Hours \$9.50 \$10.00 Check Total Claimed Tips Grand Total Pay Rate \$.000 \$0.00 Check Total Claimed Tips Grand Total Hours Check Total Claimed Tips Grand Total Hours \$2.13	28.92 5.51 34.43 Hours Total 40.00 15.96 55.96 Total	\$0.00 \$274.70 \$55.12 \$329.82 \$8.00 \$337.82 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
Bello, Forta Job Title Carcamo, S Job Title Carrasco Carrasco Carrasco Carcamo, S Job Title Carrasco Carrasc	anato OC - Kitchen OC - Kitchen anato C - Server astellon, G	n - OT Pay Rate	\$9.50 \$10.00 Check Total Claimed Tips Grand Total Pay Rate \$.00 \$0.00 Check Total Claimed Tips Grand Total Hours Check Total Claimed Tips Grand Total Hours \$2.13	28.92 5.51 34.43 Hours Total 40.00 15.96 55.96 Total	\$55.12 \$329.82 \$8.00 \$337.82 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
Bello, Forta Job Title Carcamo, S Job Title Carrasco Ca Job Title Carsady, Vi Job Title	anato OC - Kitchen OC - Kitchen anato Gamantha C - Server	n - OT Pay Rate	\$9.50 \$10.00 Check Total Claimed Tips Grand Total Pay Rate \$.00 \$0.00 Check Total Claimed Tips Grand Total Hours Check Total Claimed Tips Grand Total Hours \$2.13	28.92 5.51 34.43 Hours Total 40.00 15.96 55.96 Total	\$55.12 \$329.82 \$8.00 \$337.82 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
Bello, Forta Job Title Carcamo, S Job Title Carrasco Ca Job Title Carsady, Vi Job Title	anato OC - Kitchen OC - Kitchen anato Gamantha C - Server	- OT Pay Rate	\$10.00 Check Total Claimed Tips Grand Total Pay Rate \$.00 \$0.00 Check Total Claimed Tips Grand Total Hours Check Total Claimed Tips Grand Total Hours \$2.13	5.51 34.43 Hours Total 40.00 15.96 55.96 Total 0.00	\$55.12 \$329.82 \$8.00 \$337.82 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
Bello, Forta Job Title Bello, Forta Job Title Carcamo, S Job Title Carrasco Carra	anato OC - Kitchen OC - Kitchen anato Gamantha C - Server astellon, G	- OT Pay Rate	Check Total Claimed Tips Grand Total Pay Rate \$.00 \$0.00 Check Total Claimed Tips Grand Total Hours Check Total Claimed Tips Grand Total Hours \$2.13	Total 0.00	\$329.82 \$8.00 \$337.82 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
Bello, Fort: Job Title Carcamo, S Job Title Carrasco Ca	OC - Kitchen OC - Kitchen anato Samantha C - Server astellon, G	- OT Pay Rate	Pay Rate \$.00 \$0.00 Check Total Claimed Tips Grand Total Hours Check Total Claimed Tips Grand Total Hours \$2.13	40.00 15.96 55.96 Total 0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
Bello, Fort: Job Title Carcamo, S Job Title Carrasco Ca	OC - Kitchen OC - Kitchen anato Samantha C - Server astellon, G	- OT Pay Rate	Pay Rate \$.00 \$0.00 Check Total Claimed Tips Grand Total Check Total Claimed Tips Grand Total Check Total Claimed Tips Grand Total Hours \$2.13	40.00 15.96 55.96 Total 0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
Bello, Fort: Job Title Carcamo, S Job Title Carrasco Ca	OC - Kitchen OC - Kitchen anato Samantha C - Server astellon, G	- OT Pay Rate	\$.00 \$0.00 Check Total Claimed Tips Grand Total Hours Check Total Claimed Tips Grand Total Hours \$2.13	40.00 15.96 55.96 Total 0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00
Bello, Forta Job Title Carcamo, S Job Title Carrasco Ca	oc - Kitchen anato Samantha C - Server astellon, G	- OT Pay Rate	\$.00 \$0.00 Check Total Claimed Tips Grand Total Hours Check Total Claimed Tips Grand Total Hours \$2.13	40.00 15.96 55.96 Total 0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00
Bello, Forta Job Title Carcamo, S Job Title Carrasco Ca Job Title Cassady, Vi Job Title	oc - Kitchen anato Samantha C - Server astellon, G	- OT Pay Rate	\$0.00 Check Total Claimed Tips Grand Total Hours Check Total Claimed Tips Grand Total Hours \$2.13	15.96 55.96 Total 0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00
Carcamo, S Job Title Carrasco Ca Job Title Cassady, Vi Job Title	Samantha C - Server astellon, G		Claimed Tips Grand Total Hours Check Total Claimed Tips Grand Total Hours \$2.13	Total 0.00 Total	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00
Carcamo, S Job Title Carrasco Ca Job Title Cassady, Vi Job Title	Samantha C - Server astellon, G		Hours Check Total Claimed Tips Grand Total Hours \$2.13	Total 0.00 Total	\$0.00 \$0.00 \$0.00
Carcamo, S Job Title Carrasco Ca Job Title Cassady, Vi Job Title	Samantha C - Server astellon, G		Hours Check Total Claimed Tips Grand Total Hours \$2.13	Total 0.00 Total	\$0.00 \$0.00
Carcamo, S Job Title Carrasco Ca Job Title Cassady, Vi Job Title	Samantha C - Server astellon, G		Check Total Claimed Tips Grand Total Hours \$2.13	0.00 Total	\$0.00
Carcamo, S Job Title Carrasco	C - Server astellon, G		Check Total Claimed Tips Grand Total Hours \$2.13	0.00 Total	\$0.00
Carrasco Co Job Title OC Cassady, Vi Job Title	C - Server astellon, G	Pay Rate	Grand Total Hours \$2.13		
Carrasco Co Job Title OC Cassady, Vi Job Title	C - Server astellon, G	Pay Rate	Hours \$2.13		\$0.00
Carrasco Co Job Title OC Cassady, Vi Job Title	C - Server astellon, G	Pay Rate	\$2.13		
Carrasco Carrasco Carrasco Carrasco Carrasco Carrasco Carrasco Cassady, Vi	astellon, G	Pay Rate	\$2.13		
Carrasco Ca Job Title OC Cassady, Vi	astellon, G				\$63.49
Job Title OC Cassady, Vi	•			29.81 29.81	\$63.49
Job Title OC Cassady, Vi	•		Claimed Tips	- · · · -	\$0.00
Job Title OC Cassady, Vi Job Title	•		Grand Total		\$63.49
Cassady, Vi	· Dunner	ieocanda Ara			
Cassady, Vi		Pay Rate	Hours \$9.50	Total	6240.27
Job Title	bussel		\$9.50 Check Total	36.78 36.78	\$349.37 \$349.37
Job Title			Claimed Tips		\$0.00
Job Title			Grand Total		\$349.37
	iolet				
00	C - Server	Pay Rate	# Hours \$2.13	Total 19.41	\$41.35
	z - Server		Check Total	19.41	\$41.35
			Claimed Tips		\$0.00
			Grand Total		\$41.35
Catering, C	Catering				
Job Title		Pay Rate	Hours	Total 0.00	¢0.00
			Check Total Claimed Tips	0.00	\$0.00 \$0.00
			Grand Total		\$0.00
Catering, C	Catering				
Job Title		Pay Rate	Hours	Total	
			Check Total	0.00	\$0.00 \$0.00
			Claimed Tips Grand Total		\$0.00
Ceballos M	ledel Keni	a			
Job Title	icaci, kciii	Pay Rate	Hours	Total	
00	C - Kitchen		\$13.50	31.02	\$418.76
			Check Total	31.02	\$418.76
			Grand Total		\$0.00 \$418.76
Cox, Cassid	v				
Job Title		Pay Rate	Hours	Total	
	C - Server		\$2.13	25.56	\$54.43
			Check Total Claimed Tips	25.56	\$54.43 \$0.00
			Grand Total		\$54.43
Dalstra, Sk	vler				
Job Title	•	Pay Rate	Hours	Total	
00	C - Server		\$2.13	29.59	\$63.02
			Check Total Claimed Tips	29.59	\$63.02 \$0.00
			Grand Total		\$63.02
De Luna, A	aron				
Job Title		Pay Rate	Hours	Total	
	C - Busser		\$9.50	4.00	\$38.02
00	C - Kitchen		\$13.00 Check Total	17.40 21.40	\$226.15 \$264.16
			Claimed Tips	21.70	\$264.16
			Grand Total		\$264.16
Default 2,	Manager				
Job Title		Pay Rate	Hours	Total	40.00
			Check Total Claimed Tips	0.00	\$0.00 \$0.00
			Grand Total		\$0.00
Dostalik, K	avlyn				7 - 1.00
Job Title	yıyıı	Pay Rate	Hours	Total	
OC -	- Host		\$9.00	13.78	\$123.98
To	o Go		\$10.00 Check Total	4.95 18.72	\$49.48
			Check Total laimed Tips	10.72	\$173.46 \$0.00
			Grand Total		\$173.46
	bella				

Job Title		Day Pate	Hours	Total	
Job Title	Shift-Pay	Pay Rate	\$7.25	3.85	\$27.89
	OC - Server		\$2.13	5.97	\$12.71
			Check Total Claimed Tips	9.82	\$40.61 \$0.00
			Grand Total		\$40.61
George	, Isabella				
Job Title	,	Pay Rate	Hours	Total	
	OC - Host		\$10.00	7.18	\$71.84
			Check Total Claimed Tips	7.18	\$71.84 \$0.00
			Grand Total		\$71.84
Guerra.	, Lileighana				
Job Title		Pay Rate	Hours	Total	
	To Go		\$9.00	3.81	\$34.27 \$34.27
			Check Total aimed Tips	3.81	\$0.00
			Grand Total		\$34.27
Gutierr	ez, Jazmin				
Job Title	<u> </u>	Pay Rate	Hours	Total	
	OC - Server		\$2.13 Check Total	5.92 5.92	\$12.61 \$12.61
			Claimed Tips	3.32	\$0.00
			Grand Total		\$12.61
Hehn, L	.ayla				
Job Title	•	Pay	Rate Hou		A
	OC - Server OC - Host		\$2.13 \$11.00	35.66 4.34	\$75.95 \$47.78
	OC - Server - O	Т	\$3.20	1.88	\$5.99
			Check Total	41.88	\$129.72
			Claimed Tips Grand Total		\$0.00 \$129.72
Hornon	doz Luz		Granu Total		31.25.72
Hernan Job Title	dez, Luz	Pay Rate	Hours	Total	
	OC - Kitchen	. cy nate	\$13.50	31.96	\$431.45
			Check Total	31.96	\$431.45
			Claimed Tips Grand Total		\$0.00 \$431.45
Home	Delivery		Granu rotar		ў -7-7-7-7-7-7-7-7-7-7-7-7-7-7-7-7-7-7-7
Job Title	Delivery	Pay Rate	Hours	Total	
1100		. u,u.c	Check Total	0.00	\$0.00
			Claimed Tips		\$0.00
	- C 1:		Grand Total		\$0.00
Manago Job Title	er, Default	Day Pata	Hours	Total	
JOD TILLE		Pay Rate	Check Total	0.00	\$0.00
			Claimed Tips		\$0.00
			Grand Total		\$0.00
	ez, Alexander	_			
Job Title	OC - Kitcher		ay Rate Ho \$13.00	ours Total 40.00	\$520.00
	OC - Kitchen -		\$19.50	13.56	\$264.47
			Check Total	53.56	\$784.47
			Claimed Tips Grand Total		\$0.00 \$784.47
Martin	oz Poniamin		Gianu iotai		\$704.47
Job Title	ez, Benjamin		Pay Rate	Hours To	tal
	OC - Mana	ger	\$.00 40.00	\$0.00
	OC - Manage	er - OT	\$0.		\$0.00
			Check To Claimed T		\$0.00 \$0.00
			Grand To		\$0.00
Mcneil,	Tiarra				
Job Title		Pay Rate	Hours	Total	
	OC - Server		\$2.13	8.88	\$18.92 \$18.92
			Check Total Claimed Tips	8.88	\$18.92 \$0.00
			Grand Total		\$18.92
Moone	yham, Harlee				
Job Title		Pay Rate	Hours	Total	4
	OC - Server		\$2.13 Check Total	22.14 22.14	\$47.15 \$47.15
			Claimed Tips	22.14	\$47.15
			Grand Total		\$47.15
	ure Orders				
Job Title		Pay Rate	Hours	Total	
			Check Total Claimed Tips	0.00	\$0.00 \$0.00
			Grand Total		\$0.00
NA, To-	-Go				,
Job Title		Pay Rate	Hours	Total	
			Check Total	0.00	\$0.00
			Claimed Tips Grand Total		\$0.00 \$0.00
Owner	Demo		Jianu IVlai		30.00
Owner, Job Title	Delilo	Pay Rate	Hours	Total	
		_,	Check Total	0.00	\$0.00
			Claimed Tips		\$0.00
			Grand Total		\$0.00
Perez, [Job Title	Deysi	Day Bata		Tabel	
OD TITLE		Pay Rate	Hours Check Total	Total 0.00	\$0.00
			Claimed Tips		\$0.00
1			Grand Total		\$0.00

No Title	n a				
Check Total Claimed Tips S282.6	Perez, Nely Job Title	Pay Rate	Hours	Total	
Calmed Tips	OC - Busser				\$282.63
POS, Qlaborate Pay Rate Check Total Claimed Tips Check Total Ch				33.25	
Deb Title					\$9,480.63
Check Total Claimed Tips So.00 So.00 Claimed Tips So.00 So.00 So.00 Check Total Claimed Tips So.00 So.00 So.00 Check Total Claimed Tips So.00 So.00 So.00 Check Total Claimed Tips So.00 So.00 So.00 So.00 Claimed Tips So.00 So	POS, Qlaborate				
Claimed Tips So.0	Job Title	Pay Rate			\$n nn
Programmer, HPOSS Pay Rate				0.00	\$0.00
Pay Rate			Grand Total		\$0.00
Check Total Claimed Tips So.00 So.00 Claimed Tips So.00				T-4-1	
Ramirez, Anna Pay Rate	Job Title	Рау кате			\$0.00
Ramirez, Anna ob Title Salad Sala					\$0.00
Salad Sala	D		Grand Lotal		\$0.00
Salad \$10.00		Pay Rate	Hours	Total	
Check Total 45,78 5488.5 5312.0 5798.7 5312.0 5798.7 5312.0 5798.7 5312.0	Salad	, ay mate	\$10.00	40.00	\$400.00
Claimed Tips S312.0	Salad - OT				\$86.73
Ramirez, Jaime				43.76	\$312.00
Title			Grand Total		\$798.73
OC - Busser					
OC - Busser - OT					\$290.00
Claimed Tips S224.0			\$10.88	5.79	\$62.99
Series S					\$352.99
Ramirez, Juan					\$324.00 \$676.99
Total Pay Rate P	Ramirez, Juan				
Check Total Claimed Tips So.00 Claime	Job Title	Pay Rate			£207.55
Claimed Tips Sy0.0	Expo Dish				\$397.88 \$397.88
No little			Claimed Tips		\$0.00
Total Pay Rate Hours Pay Rate Pay Rate Hours Pay Rate Hours Pay Rate Hours Pay Rate Pay Rate Pay Rate Hours Pay Rate Pay Rate Hours Pay Rate Pay Rate Pay Rate Hours Pay Rate Pay	D: 1.1.		Grand Total		\$397.88
OC - Busser S9.50		Pay Pate	Цош	rs Total	
Claimed Tips Spo.0		ray Nate			\$119.20
Stand Total				12.55	\$119.20
Pay Rate					\$0.00 \$119.20
	Rodriguez. Fidel				
Check Total Claimed Tips Substitute Substitu	Job Title	Pay Rate			
Claimed Tips S422.8	OC - Kitchen				
Rogers, Shelah Pay Rate			Claimed Tips	30.20	\$0.00
	a		Grand Total		\$422.83
OC - Server \$2.13 27.04 \$57.6 To Go		Pay Pate	Hours	Total	
Check Total 39.63 \$227.5		ray nate			\$57.60
Claimed Tips So.00	To Go				\$169.97
Canal Total Canal Total Canal Total Canal Total				39.63	\$227.56
OC - Manager			Grand Total		\$227.56
OC - Manager	Rubit, Eric				
OC - Manager - OT		ager	Pay Rate		
Claimed Tips \$0.0				\$0.00 20.94	\$0.00
Company					
Deb Title					\$0.00
Deb Title	Ruiz, Jose				
Check Total 26.20 \$366.8 \$0.00 \$366.8 \$0.00 \$366.8	Job Title	Pay Rate			\$266.00
Sanchez, Maria Pay Rate Hours Total	oc-kittilen		Check Total		\$366.80
Sanchez, Maria Pay Rate					\$0.00
Description Pay Rate Hours Total	Sanchez Maria		Grand Total		7300.80
OC - Busser	Job Title	Pay Rate	Hou	rs Total	
Claimed Tips \$0.0		,	\$10.00	15.58	\$155.79
Saquic, Jose Pay Rate				15.58	\$155.79 \$0.00
OD - Kitchen					\$155.79
OC - Kitchen	Saquic, Jose				
Check Total 39.72 \$516.3 \$0.0 \$0.0 \$0.0 \$16.3	Job Title	Pay Rate			¢516 20
Shift, House Pay Rate	oc-kittilen		Check Total		\$516.30
Check Total Check Total Claimed Tips Spann, Cody Check Total Spann, Cody Check Total Spann, Cody Spann, Cody Check Total Spann, Cody					\$0.00 \$516.30
Description Pay Rate	Shift House		Grand Lotal		\$51b.3U
Check Total 0.00 \$0.00	Job Title	Pay Rate	Hours	Total	
Grand Total \$0.00			Check Total		\$0.00
Spann, Becky lob Title Pay Rate Hours Total Claimed Tips \$0.0 Grand Total \$0.0 Spann, Cody Hours Total Lob Title Pay Rate Hours Total Check Total 0.00 \$0.0					\$0.00 \$0.00
Dob Title	Spann, Becky		2		70.00
Claimed Tips \$0.0	Job Title	Pay Rate			
Grand Total \$0.00 Spann, Cody lob Title Pay Rate Hours Total Check Total 0.00 \$0.00				0.00	\$0.00
Spann, Cody lob Title Pay Rate Hours Total Check Total 0.00 \$0.0					\$0.00 \$0.00
lob Title Pay Rate Hours Total Check Total 0.00 \$0.0	Spann, Cody				
	Job Title	Pay Rate			4
					CU UU
				0.00	\$0.00

Ì			Grand Total		\$0.00
Snann	Dwayne				
Job Title	Dwayne	Pay Rate	Hours	Total	
		. uyucc	Check Total	0.00	\$0.00
			Claimed Tips		\$0.00
			Grand Total		\$0.00
Suar Sa	quic, Victor				
Job Title	quic, victor	Pay Rate	Hours	Total	
JOD TILLE	OC - Kitchen	r ay mate	\$14.00	39.55	\$553.70
	oc kitchen		Check Total	39.55	\$553.70
			Claimed Tips		\$0.00
			Grand Total		\$553.70
ToGo, T	oGo.				
Job Title	000	Pay Rate	Hours	Total	
		. a, mate	Check Total	0.00	\$0.00
			Claimed Tips		\$0.00
			Grand Total		\$0.00
Vasaule	z Chitic, Toma	c			
Job Title	cilitie, Tollia	Pay Rate	Hours	Total	
	OC - Kitchen	. u, .tute	\$14.00	36.68	\$513.57
			Check Total	36.68	\$513.57
			Claimed Tips		\$0.00
			Grand Total		\$513.57
Vences,	Sergio				
Job Title	Jei Bio	Pay Rate	Hours	Total	
	OC - Server	. uyucc	\$2.13	36.51	\$77.77
			Check Total	36.51	\$77.77
			Claimed Tips		\$0.00
			Grand Total		\$77.77
Vences.	Sergio J				
Job Title		Pay Rate	Hours	Total	
		•	Check Total	0.00	\$0.00
			Claimed Tips		\$0.00
			Grand Total		\$0.00
Warner	. Alexis				
Job Title	,	Pay Rate	Hours	Total	
	OC - Server		\$2.13	22.64	\$48.23
			Check Total	22.64	\$48.23
			Claimed Tips		\$0.00
			Grand Total		\$48.23
Yanez, A	Ada				
Job Title		Pay	Rate Hours	Total	
	OC - Kitchen		\$10.00	40.00	\$400.00
	OC - Kitchen - C	T	\$15.00	12.80	\$191.96
			Check Total	52.80	\$591.96
			Claimed Tips		\$9,270.00
			Grand Total		\$9,861.96
CHECK 1	TOTALS				
Hours			Total		
1		1,103.01			\$8,442.82